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FHSa= 160,000,973 137,786,224 22,214,749
= 9,693,321
s 13,362,400
J| 22,858,638
< 114,086,614
EERSPAReni; 32,941,830 20,614,246 12,327,584
= 669,812
J| 5,669,432
< 26,602,586
ANSAZH &3 19,670,219 9,239,492 10,430,727
= 669,812
J| 5,669,432
< 13,330,975
NABHM 2435 Jlgrda 2,340,688 409, 336 1,931,352
EXZH Q25 82,000 85,000 A 3,000
308 XXM SOl A 82,000 85,000 A 3,000
10 I/ 2 SOCHetE & X 2 E AL I 82,000 85,000 A 3,000
Os&E=E HEE CE0ZE UWERZA #= 10,000
OE=ZH 4%as ZHe oS tal 27,000
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- N2 HEds=a 1,400
202 (4dl 3,500 3,500 0
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203 YR =2l 56,000 61,000 A5,000
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OF=3= 2,705
Os4All 840
Onstl 315
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OB M 2822 M 15,000
== AHARER =& 1,952,000 0 1,952,000
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10 B2 S0 BAHAE A 702,000 0 702,000
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02 SO 2SO HEHAHE X 2| &AL H 1,250,000 0 1,250,000
OADEEHMON AMAURER Z(UHS) 1,250,000
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HdSAE OHAE XA 60,000 70,000 A 10,000
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307 21201 A 12,000 12,000 0
02 LB AAFEX 12,000 12,000 0
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307 eIzl & 100,000 100,000 0
02 It M AHEE 100,000 100,000 0
O&= =A% &g Ha N (UWS) 100,000
HEANE NESHUHSAS (MEAY) 3,036,054 3,468,474 A432,420
403 MHXISHEA=01 & 3,036,054 3,468,474 A432,420
01 XXM 22 = 3,036,054 3,468,474 N432,420
OHSAE AZSUIMNE XS 3,036,054
S+ dSANE EE NE 60,000 45,000 15,000
307 21201 A 60,000 45,000 15,000
02 IZtE S AIHE L 60,000 45,000 15,000
O+ dSANE &8 XA 60,000
HEANE SFHSH 2+ X 137,146 137,146 0
308 XAtXIEHH SOl 137,146 137,146 0
01 HIXNHHBMNEELES 137,146 137,146 0
OXSAZE SFHSH It X & 137,146
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307 21201 A 4,656 4,320 336
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J| 5,001,000
S 833,500
HEANE FXUHEENE ML (FXHE HE=) 144,102 0 144,102
J| 123,516
< 20,586
403 A X EHHS 20l A 144,102 0 144,102
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= 642,000
< 321,000
01 AXHHILEES 963,000 0 963,000
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= 642,000
< 321,000
5 L4302 AR AZ XA 90,360 0 90,360
308 MtXIEHMSOIH 90,360 0 90,360
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< 106,887
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01 Z&= 10,000 0 10,000
OMYER SFNE FRESS2AY R2X
LA 10,000
S0 Jlslad 29 30,000 0 30,000
308 XtXIEHHSOIA 30,000 0 30,000
10 SII 2 SOICHEHE & X 2 & A I 30,000 0 30,000
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JlE2&l 110,579 105,579 5,000
201 Ler24] 23,949 23,949 0
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A= FHSY= SN EE
I MM A UG
el A% MYIES HER XY B 2s (B9 ®R)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
A7 MHEEYE 2 )Y eI 29 20,000 20,000 0
308 XAHXIEHSOIA 20,000 20,000 0
10 B 2SUHUSHEAEAE AT Y| 20,000 20,000 0
O4X} MEEY e JIguRss 29 20,000
ADIEZE 22 - SALAY 1,559,600 398,000 1,161,600
308 XX EHSOIA 1,559,600 398,000 1,161,600
10 212 SUHUSHEAEAE AL Y| 1,559,600 398,000 1,161,600
OADIEZZE BZ2 - &4 AMA 1,559,600
A7 MEEYE AT D|gsd MY 1,600,000 0 1,600,000
308 XAXIGHHM SO0l & 1,600,000 0 1,600,000
10 B 2SO USE AN E AIS Y| 1,600,000 0 1,600,000
O4xF MHSEHA A DI HE AIY 1,600,000
ADEZE AMNEZ2E F I AIE(UHE) 180,000 0 180,000
308 MXISHMSOIA 180,000 0 180,000
10 2| 2S00 UsHE A X 2AE A S| 180,000 0 180,000
OANIEZH AEZ2ZE 2= X 180,000
ANEZHE 25 .29 HEEH NI AL 220,000 0 220,000
308 AHXIEHMSOIA 220,000 0 220,000
10 B2 SUHUSHEAEAE AN Y| 220,000 0 220,000
OANEZE 25 - 29 2448 X& 220,000
SEFFULALAAIDINLER 29 57,000 0 57,000
201 LBt ]| 47,000 0 47,000
01 AP 22| d| 47,000 0 47,000
OF=2 8 LAHIPNLER S22 HE 47,000
308 AMXISHMSOIA 10,000 0 10,000
10 B 2SO USHE AN EAIS Y| 10,000 0 10,000
O F3F LAHPINLER oYM 249 10,000
ATEYN SAHMUES X A (LHE) 50,000 0 50,000
308 XHXIEHMSOIA 50,000 0 50,000
10 B2 SUHUSHEAEAE AT Y| 50,000 0 50,000
OAZEQ N =A04E XFAMSE(HE) 50,000
XS VR, AR HIZHEHE RESAY(HE) 600,000 0 600,000
308 XX G SO|A 600,000 0 600,000
10 212 SUHUSHE A EAE AL Y| 600,000 0 600,000
OX<Y VR, AR NI HEHEH R2=EAL () 600,000
E=2 FF LAHPNLUER FHAY 250,000 0 250,000
306 52 250,000 0 250,000
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AN S 4R SN EE
Tarprel Ao A
AT MRIEE MER TS A 23 (B9 ®R)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
01 &= 250,000 0 250,000
O58 = 2AHINLER SHAMS(THE) 250,000
20|9E AMESE 25 XA 1,055,000 0 1,055,000
308 XXM SOIA 1,055,000 0 1,055,000
10 I 2 SO0CHetE & X 2 E AL I 1,055,000 0 1,055,000
OXJgE AEZSE 2=EXNE 1,055,000
SEUSTNELTY HIES 100,000 0 100,000
207 A RO 100,000 0 100,000
01 2739l 100,000 0 100,000
OSE&WeNEZTYE 72 EH 100,000
s g38y =4 9,434,880 200,000 9,234,880
= 5,800,000
< 3,634,880
EE =228 24 X& 200,000 200,000 0
308 MXIEHSOIH 200,000 200,000 0
1037/ 2S0HUHeEHEAEALS HI 200,000 200,000 0
OEE Mg (XASH) ¢4 X 200,000
AEeFdANSI HAE HE =2 6,800,000 0 6,800,000
= 5,800,000
=) 1,000,000
403 X SHHS =0l & 6,800,000 0 6,800,000
= 5,800,000
=) 1,000,000
02 S 2SO HEAHE R 2 E AL H 6,800,000 0 6,800,000
Os= NEFANSIH HAEHE 25 6,800,000
= 5,800,000
< 1,000,000
=3IH 28 dXIHEH REFA 2,360,000 0 2,360,000
308 XXIEHHSOIA 2,360,000 0 2,360,000
10 I 2 SOCHetE & & 2 E A I 2,360,000 0 2,360,000
+EIH 28 dXNIHEH 25 FI(UHS) 2,360,000
s 23FI1Y U OHE K& 74,880 0 74,880
308 MtXIEHSOIH 74,880 0 74,880
1037/ 2S0HUHSE S HAE ALS HI 74,880 0 74,880
OXsxt 2371 =W OAHNE N 74,880
MEY A 2st 3,048,250 1,210,000 1,838,250
= 410,125
< 2,638,125
HUESHH2Y 243t 221,000 190,000 31,000
307 gl2tol & 221,000 190,000 31,000
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AR FRSY=2 SN AEAYD
MM MM HadE 23
Sl HAFY %Y 25 (B9 ®R)
2SN B () NEAY - BAS 0 AF o il HZS2
ONOoIHAHOA 25 - 2% XNIAS(LHE) 50,000
SHAMNEA HELIAMHEH &9 X 60,000 0 60,000
308 X SHAMSOIA 60,000 0 60,000
10 2012 S O0ll CHEH 2 & X I AL b 60,000 0 60,000
O aEH HELAME 29 X& 60,000
eate =4 17,131,000 11,445,000 5,686,000
AN AT S S ALY 16,731,000 11,045,000 5,686,000
JN=HASIHERZD ALY 200,000 200,000 0
308 XX SHAMSO0IA 200,000 200,000 0
10 3 2SHUHSZEAHAE ALY 200,000 200,000 0
OJI=HAESTUERD AHE(HE) 200,000
NEF=HAAMH SHAY 5,578,000 4,738,000 840,000
308 XX S M SO0l & 5,578,000 4,738,000 840,000
10 B 2SHUSEANAE ALY 5,578,000 4,738,000 840,000
OXNEFEad SHAE(HE) 5,578,000
ZAEEIEAUMT SHALLY 2,955,000 2,796,000 159,000
308 AXISHXSOoIH 2,955,000 2,796,000 159,000
10 ST 2SO UHsHE A A EAIS Y 2,955,000 2,796,000 159,000
OZSAEEIME SHMA(THE) 2,955,000
HATA SSIZAA SHAMY 1,800,000 1,750,000 50,000
308 AXISHXMSOIHA 1,800,000 1,750,000 50,000
10 SISO S E AN EAIS Y 1,800,000 1,750,000 50,000
OSAZA 23J/20AH |LHAE(HE) 1,800,000
IZEESE A X JALS 1,953,000 1,549,000 404,000
308 AHX| &AM SO0l & 1,953,000 1,549,000 404,000
10 B 2SHUSEAHAE ALY 1,953,000 1,549,000 404,000
O g2 NAE(UHE) 1,953,000
HMZEZ20F OINAX 252 /s SEUSE A4S 45,000 0 45,000
He D=
308 AXISHAMSOIA 45,000 0 45,000
10 3I2SHUHSZEAHAE ALY 45,000 0 45,000
OMZEZ0F DIMBIX 252 98 ZHLEY
Al2s HEIls(e) 45,000
AN -8BE 20 JisHeY NS ALY 3,000,000 0 3,000,000
308 AXISHXMSOIH 3,000,000 0 3,000,000
10 SISO USHE AN E A 3,000,000 0 3,000,000
OAM - 88 20t )i XE ALY 3,000,000
NEEGAY SHAMY 600,000 0 600,000
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AR FHSH= = A
HE: MAMY SX
Sl KHANYTEAY

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 600,000 0 600,000
03I 2S0lCHstE & XH 2 E A HI 600,000 0 600,000
O=Z7H U3 A2 NIASaY SEAY 600,000
AAsXt R34y A DT NBAY 500,000 0 500,000
308 XXM SO0l A 500,000 0 500,000
0 ZBJ2SoHEZ&ELAE A S HI 500,000 0 500,000
OXsxt 234 WA DE5 XA 500,000
SHREAZAMATHH 2 A S#HS AHY 100,000 0 100,000
308 XtXIEHHSOIA 100,000 0 100,000
01 X HHILEES 100,000 0 100,000
OIS HAATHHA A B3 ALY 100,000
FHE Redlsdy =4 400,000 400,000 0
EFEH S Hedlsdy 33" 235 Xd 400,000 400,000 0
308 MtXIEHMSOIH 400,000 400,000 0
10 SO 2SUHUEE &S A 400,000 400,000 0
Oga+E7M UsS Hedl=sdy B 235
| & 400,000
ICT S8 MUIA =it 6,694,800 4,708,000 1,986,800
s 362,400
< 6,332,400
A2TEYN MY E4 6,694,800 4,708,000 1,986,800
s 362,400
= 6,332,400
AWy d&X& 724,800 520,000 204,800
as 362,400
< 362,400
308 XXM SOl A 724,800 520,000 204,800
as 362,400
< 362,400
10 I/ 2 SO0CHetE & X 2 E AL HI 724,800 520,000 204,800
OXdwd & X & 724,800
s 362,400
< 362,400
ANAWS 2 2dH 2922 80,000 80,000 0
308 MtXIEHMSOIH 80,000 80,000 0
10 B2 SUHUEBAHEAE A I 80,000 80,000 0
OXYGSWS 2 A2y 23 22(UH3) 80,000
HEIDICINHIISXJAME 2922 40,000 40,000 0
308 XX EHSOIA 40,000 40,000 0
10 37/ 2S0HUHSBAEAEALS I 40,000 40,000 0
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M ox
40 5 4

AHSY= SN AEAYD
ICT BEMHIA &4t
ATEQO M T4

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OZENICIHII=NadEH 222l 40,000
WESESHS Hgy & &8s X3 200,000 156,000 44,000
308 XXM SOl A 200,000 156,000 44,000
10 BII 2SO CHEHZ & N IS AL bl 200,000 156,000 44,000
OWESEHMS g & &8s XNA(UHS) 200,000
ICT CiHtolA®Y 24 200,000 200,000 0
308 XtXIEHH SOl A 200,000 200,000 0
10 2O S OITHE 24 = 2 A I 200,000 200, 000 0
OICT tlHtolA8 2g9(Us) 200,000
ICT ¢IY SA018 Jisig XN 200,000 200,000 0
308 MtXIEHMSOIH 200,000 200,000 0
10 37/ 2S0HUHeBH4EAE ALS HI 200,000 200,000 0
OICT X sS40/ Jl=HY XA 200,000
JIMEEE &M - 25 AMEEIUS It 2= 200,000 197,000 3,000
403 X SHHS =0l & 200,000 197,000 3,000
02 S 2SO HEAE R E AL 200,000 197,000 3,000
OJES8EE AT - 2F AMEEIUS J|gt=2
=(02) 200,000
40 SELAM &gs NJAHH 25 550,000 600,000 A50,000
403 UHXSHHSA=0l& 550,000 600,000 A50,000
02 S 2S0Het A=A 2 & Ar 550,000 600,000 A50,000
ONSEAM &3 XNJAUEH 2F(UHS) 550,000
ICTE=2g &2 =22 ASHH 2SN 360,000 100,000 260,000
308 XXM SO0 A 360,000 100,000 260,000
10 S22SB4 AE A 360,000 100,000 260,000
OICTEs=SE 55 224 HIHdH 2 X2 (N
=) 360,000
BIEXNEE RS d¥JIs N& 1,000,000 2,200,000 A 1,200,000
403 Ut SHHSA=0l& 1,000,000 2,200,000 A 1,200,000
02 S 2S00 HEt A = H 2 & AL H 1,000,000 2,200,000 A 1,200,000
OHIEHEEEE AAIzs NIAHMEH 2 AS(
RS 1,000,000
SSUSseey HESESR I8 OHE 175,000 175,000 0
308 A EHHSOIA 175,000 175,000 0
1037/ 2S0HUHSBHEAE ALS HI 175,000 175,000 0
OsSd3Xs(ANMY HESER JIBtR= 175,000
BtEX 820t 2 Iz 20,000 20,000 0
308 X EHSOIA 20,000 20,000 0




AR FRSY=2 SN AEAYD
M |CT sSAMHIA =4t
Sel: ADESIO MY 4 (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
10 3J/2S0HUHeB&EEALS I 20,000 20,000 0
OBtEX d20F =28 =l 20,000
EEMAAMY XNINE Dl 2= 220,000 220,000 0
308 XXM SOIA 220,000 220,000 0
10 2O BSOICHE 2 A X SIS A Y 220,000 220,000 0
SSEMAAMH NSAHE JIg 25 220,000
THAICH AIAEIBFE X &Y DI B2 = 1,000,000 0 1,000,000
308 XX EHH SOl A 1,000,000 0 1,000,000
10 2O S OIHE 2 A =2 A bl 1,000,000 0 1,000,000
OXHMICHE AIAEIBEX JIsHe X2 1,000,000
ANAE BIEX 2 ZEERS 715 110,000 0 110,000
207 & O &l 110,000 0 110,000
01 2284 110,000 0 110,000
OANAHEIEH =3HEZHS 5 S N¥E
2 110,000
ES LAZEO(SW) CliS(HS) 315,000 0 315,000
308 XX EHHSOIA 315,000 0 315,000
1037/ 2S0HUHeFHHEAEALS HI 315,000 0 315,000
OZ=S AZEQO(SW) DIHIHS(LHS) 315,000
B At eS| JNE (M SALS) 1,300,000 0 1,300,000
308 AHAIEHHSOIA 1,300,000 0 1,300,000
1037/ 2S0HUHSBHEAEALS I 1,300,000 0 1,300,000
OBt M ot et et sl i = 1,300,000
HH 2L I (MeFard ) 63,871 63,871 0
JlE &3l 63,871 63,871 0
JlE&l 63,871 63,871 0
201 ¢4l 20,401 20,401 0
01 At 22l 20,401 20,401 0
OJlg+gH| 8,326
OJle s gl 12,075
202 Odl 43,470 43,470 0
01 = LH 4 Hi 43,470 43,470 0
Ol 43,470
HRES (Mg ) 2,000,000 2,855,315 A 855,315
WEHHX = 2,000,000 2,855,315 A 855,315
HEHAH X = 2,000,000 2,855,315 A 855,315
702 )1 SEEZS 2,000,000 2,000,000 0
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> A
A & 0l & AF 2 E A A
20209 = =20l & e BHSYd= ~ HSHE=
A= FHsSd= AR & DA
M UXXES =88 22
©F: UT 9EE B3 (29l 8)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Ofl LA X1 2 18,093, 188 28,134,052 A 10,040,864
= 1,194,840
J| 7,643,206
= 9,255,142
HUHXRRS S8R 2l 4,336,110 4,910, 149 A 574,039
= 1,194,840
J| 962,200
< 2,179,070
WX tE= B2 4,296,110 4,870,149 A 574,039
= 1,169,840
J| 962,200
< 2,164,070
SAIAZA SSHIE ME EF 30,000 30,000 0
207 RO 30,000 30,000 0
01 A7 39 30,000 30,000 0
OZAIIASIAL BSHIE MHEEH 30,000
JFAEOIN =2 EAXIXE MY 230,000 230,000 0
403 UHXSHHSA=0l& 230,000 230,000 0
01 X EHHMA=LE L 230,000 230,000 0
OJAEOIH =2 SXXE AFG(US) 230,000
NEIE JbAAE OHE X E A 304,440 1,180,900 A 876,460
2 304,440
403 XSS =0l & 304,440 1,180,900 A 876,460
2 304,440
01 XM A=2E X 304,440 1,180,900 A 876,460
ONBIZE JIAANE WX A 304,440
2 304,440
LPG A8 MEEI 22 AY 186,000 186,000 0
= 150,000
< 36,000
403 MtXISHE X201 & 186,000 186,000 0
= 150,000
< 36,000
01 X SHHAN2E= 186,000 186,000 0
OLPG A HEHT B At 186,000
= 150,000
S 36,000
LPG 28 MEHI B3 AL (XHA) 750,000 891,000 A 141,000
403 A X EHHS 20l A 750,000 891,000 A 141,000
01 X ESHHMA=LE L 750,000 891,000 A 141,000
OLPG A8 MEHT ZBSAS (XA 750,000
FHAHAS WHXSX ALY 1,128,070 1,284,249 A 156,179
J| 962,200
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A= FHsSd= AR & DA
M UXXES =88 22
©F: UT 9EE B3 (29l 8)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 165,870
403 MtXISHHSA=0l& 1,128,070 1,284,249 A 156,179
J| 962,200
< 165,870
01 XM A=2E X 1,128,070 1,284,249 A 156,179
OFHAAE MHXSX At 1,128,070
J| 962,200
< 165,870
ANAMHRAE AlZ X 685,000 958,000 A 273,000
= 685,000
403 UtXISHE X201 & 685,000 958,000 A 273,000
= 685,000
01 X SHHA2E = 685,000 958,000 A 273,000
OX S0l UK & A 685,000
= 685,000
ASHHXAHE =& XS 1,000 2,000 1,000
= 1,000
201 £B-2d| 1,000 2,000 A 1,000
= 1,000
01 At 22l 1,000 2,000 A 1,000
OXZoUHXAE =8XY d2U= 1,000
= 1,000
ORI ESLEREFA 8,000 8,000 0
201 ¢4l 8,000 8,000 0
01 At 2t 2l 8,000 8,000 0
OBt & =2l 8,000
LPIOtAQHEXIZI0l el erd X 44,600 0 44,600
= 29,400
< 15,200
308 XXM SOIA 44,600 0 44,600
= 29,400
< 15,200
01 XML EES 44,600 0 44,600
OLPItACHMXIZ 0] ol&Ed e K& 44,600
= 29,400
< 15,200
Olsal =A58A e L ASANE 25 160,000 0 160,000
403 A X EHHS =0l A 160,000 0 160,000
01 X HHMAZE L 160,000 0 160,000
Q0S4 =458 JHE L ASAE 25(H
2) 160,000
=AM 243 A =HE XA 750,000 0 750,000
308 XtXIEHH SOl A 750,000 0 750,000
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M ox
40 5 4

D 3NSE= £ A

COHUXIRRES aEE &L
SoUX E3R B8

SV NE PN

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
10 3J/2S0HUHeB&EEALS I 750,000 0 750,000
Ox=A4 20k Iz & ATMES WY N A
A 750,000
Ol Xl &lare 4 19,000 0 19,000
202 Odl 3,000 0 3,000
01 = LH 4 Hi 3,000 0 3,000
O=A & 0IXNEX S RFE FUHLI 3,000
308 XXM SOIA 16,000 0 16,000
10 I 2 SOCHetE & X 2 E A HI 16,000 0 16,000
OUULIX &g SHZ2 9B Astots &ols|
23 16,000
AUTIR OHE B 40,000 40,000 0
= 25,000
= 15,000
S0 ADUHE 2ASPEEH 40,000 40,000 0
2 25,000
< 15,000
308 XX EHSOIA 40,000 40,000 0
= 25,000
< 15,000
01 HXNHHNBNEELES 40,000 40,000 0
OsdJl AHIUES Esed 40,000
= 25,000
< 15,000
EHra & AT UX&E s4 13,707,092 23,179,471 AQ,472,379
J| 6,681,006
= 7,026,086
BHOFE o AT UMY S8 X 13,707,092 23,179,471 ~9,472,379
J| 6,681,006
< 7,026,086
Sctdel =4 206,000 211,000 25,000
201 L4l 15,000 20,000 A5,000
01 At 22l 10,000 10,000 0
Osetdel =248 29 10,000
03 AH2 S HI 5,000 10,000 A5,000
OZAZ HUXEE 22& /35 5,000
202 Od4dl 3,000 3,000 0
01 = LH 4 4l 3,000 3,000 0
Osctgel ZRFT = 3,000
308 XtXIEHHSOIA 188,000 188,000 0
10 SII 2SO CHEtE & X 2 & A I 188,000 188,000 0
Ot o2l oHHE X& 90,000
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A= FHsSd= AR & DA
M poE U AT HUTAY SA
Ool BN L ATHA HUKMY S4 X (el @2)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OHZZ 22U OHE K& 60,000
O=22¢8 AQE Sct¥e =2 24 38,000
SctHAEE 600,000 550,000 50,000
308 MtXIEHMSOIH 600,000 550,000 50,000
1037/ 2S0HUHeE A ALS HI 600,000 550,000 50,000
OHM9zl EctHAEE N 600,000
B Disdy 22X 100,000 200,000 A 100,000
308 X EHSOIA 100,000 200,000 A 100,000
10 37/ 2S0HUHeBAEEALS I 100,000 200,000 A 100,000
OEZII=dH 29 X 100,000
SEHLFLENS OINEH 336,541 218,714 117,827
307 glz2tol & 329,541 211,714 117,827
08 OIXt2& = 329,541 211,714 117,827
O ZLHdEIZ 0IXHEHM 329,541
308 XX EHH SOl A 7,000 7,000 0
1037/ 2S0HUHSEHEAEALS I 7,000 7,000 0
OHYZLEIZ OINEN Hd++2 7,000
et Fe32g MY 600,000 600,000 0
403 UHXHHSA=0l& 600,000 600,000 0
01 HIXHMA=E X 600,000 600,000 0
Otz Fei83 AE(US) 600,000
HZECIEOIASE B EXAY 198,000 297,000 A 99,000
403 MtXISHH S0l & 198,000 297,000 A 99,000
01 AXSHMA=2E X 198,000 297,000 A 99,000
OHlZelHAId B2 XML (HS) 198,000
ATHAEM UK S X3 A 2,454,595 1,738,298 716,297
403 MHXISHE X201 & 2,454,595 1,738,298 716,297
01 X SHHN2E = 2,454,595 1,738,298 716,297
OUTHMUHUX SSEFXIAL(HS) 2,454,595
S4MsIH EHEE 2ESAHY 160,000 160,000 0
403 A X EHHSH=0IA 160,000 160,000 0
01 X EHHMA=E L 160,000 160,000 0
OFMsI 2 ESMg(US) 160,000
OS2 BHYZEEA HAEAMH 331,200 331,200 0
403 X SHHSA=0l& 331,200 331,200 0
01 HXSHMA2E X 331,200 331,200 0
OFCUENWE Ol 2 E2AY 331,200
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D 3NSE= £ A
el
o

AT HIHRIAY S

DEHYR W AT UK S8 XS

SV NE PN

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
St EHZZEAIE XA 180,000 600,000 A 420,000
403 UHXISHHSA=0l& 180,000 600,000 A 420,000
01 XM= E L 180,000 600,000 A 420,000
Ostw BHLZLAAIL A ALY 180,000
=g e ESAdY 78,000 78,000 0
403 XSS A=0l& 78,000 78,000 0
01 XM A2E X 78,000 78,000 0
OZ=s8 Y ES MY 78,000
SSTY HEE ESAE 36,000 60,000 224,000
403 MtXISHHE X201 & 36,000 60,000 A 24,000
01 X S22 = 36,000 60,000 A 24,000
OSs= HHed ESmgd(is) 36,000
EHEZMEEHH 2SI XH 2,668,000 3,625,000 957,000
J| 2,248,000
< 420,000
403 A X EHHS 20l A 2,668,000 3,625,000 957,000
J| 2,248,000
< 420,000
01 X EHHMA=ZLE L 2,668,000 3,625,000 957,000
OHZ HEsdH 25 JIgtxd 2,668,000
J| 2,248,000
< 420,000
EHZZOIOICIHAIMIS AR AEH 25 4,000,000 7,000,000 A 3,000,000
J| 3,500,000
= 500,000
403 XSS A=0l& 4,000,000 7,000,000 A 3,000,000
J| 3,500,000
< 500,000
02 S 2S00 CHE A2 X 2 AL H 4,000,000 7,000,000 23,000,000
OEHLZOLOICIHAIME AtHSIRRAEEH 2= 4,000,000
J| 3,500,000
= 500,000
St E YL HAIAE Y 85,000 50,000 35,000
308 XXM SOIA 85,000 50,000 35,000
10 SII 2 SOCHetE & & 2 & A I 85,000 50,000 35,000
OsIh+2UE BHYZUTEAILAE HE(HS) 85,000
Tl E401g JIeXJ ALY 50,000 50,000 0
308 MtXIEHSOIH 50,000 50,000 0
10 B2 SUHUEEAHEAE A 50,000 50,000 0
O2NTIIe S401Y J=XAL(UHS) 50,000
NS XA 933,006 2,377,071 A 1,444,065
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M ox
40 5 4

D 3NSE= A Y NE PN}
= Had ol XAt |4
R ol X &g s X3

= - — SHE]|
SN B E(BH) - NREMY - BYS e bl D=2t
Jl 933,006
403 MtXISHHSA=0l& 933,006 2,377,071 A 1,444,065
J| 933,006
01 XM A2E X 933,006 2,377,071 A 1,444,065
OAITHA O Xl XIS XI& A 933,006
J| 933,006
IXHEX & MIIXNRSAY 2L N2 200,000 0 200,000
308 XXM SOIA 200,000 0 200,000
10 B2 SUHUE3AHEAE A I 200,000 0 200,000
OOIXMEX ¥ MIIXANESoY ZHAAG N2 200,000
AR MO|otd AZ 2 oHMI|I= OH 2 (RD) 50,000 0 50,000
308 XX EHHSOIA 50,000 0 50,000
1037/ 2S0HUHeEH4EAE ALS HI 50,000 0 50,000
SAHEYY MIIE AS L HEIIFE N
RS 50,000
IHEX S=2M D& 6eld Jl=hg NJAAS 200,000 0 200,000
308 XXIEHH SOl A 200,000 0 200,000
10 I 2 SOICHetE & & 2 & A I 200,000 0 200,000
OOIXMEX S=M HteIH JIsMHE XA 200,000
IREX Setet SFSATMMNY X3 AHS 200,000 0 200,000
308 XX EHH SOl A 200,000 0 200,000
1037/ 2S0HUHeSE A ALS I 200,000 0 200,000
OOIXE X 24tst SSATHOHE X2 A 200,000
Ol A Xl b - ALY 20,750 0 20,750
308 XX EHSOIA 20,750 0 20,750
1037/ 2S0HUHSBHEAEALS I 20,750 0 20,750
ouuXgleEd AL (HE) 20,750
SSAE B XX 20,000 0 20,000
403 MtXISHH S0l & 20,000 0 20,000
01 XM A=2EE 20,000 0 20,000
ONSeH e X X& 20,000
H¥2AAL (ol X ) 49,986 44,432 5,554
JlE3l 49,986 44,432 5,554
JlE2&l 49,986 44,432 5,554
201 et 15,966 14,192 1,774
01 At 22l 15,966 14,192 1,774
OJle+=&Hl 6,516
OJles gl 9,450
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D 3NSE= A Y NE PN}
D EIE2IZU(oU X

raox nx
f0 2 Y

cJledl
= — — L=
2 RA - ZH-BR(EN) - HREAY - BYS il &t o il
202 Od4dl 34,020 30,240
01 =L 34,020 30,240
OJlEul 34,020
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N 82,940
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A= JHSH= EM 2SN
Yy 2SN AZBE
Sl RRESH YRS CERED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
O=sAzell 2,700
Os&282= 5,000
OH2EEE 1,500
301 LEPEAZ 35,450 32,200 3,250
07 2el=& 0ol bl 35,450 32,200 3,250
OHM Bl 32,450
OMe =Y 2 900
OltAXA =223 =4l 2,100
406 JIEtA =201 & 5,000 98,000 293,000
01 JIEFRI 20| N 5,000 98,000 293,000
Ouz XY 32 =4 Xz 5,000
SHZAHUAMN 29I 8,000 8,500 A 500
201 ¢er24l 5,000 5,000 0
01 At 224l 5,000 5,000 0
OBt & ==ZH| 5,000
202 044l 3,000 3,500 A 500
01 = LH &4 1l 3,000 3,500 A 500
O=otl 3,000
CHEtRIZAIESXAIE S FHAMNE 2ES 93,100 92,700 400
201 et 93,100 92,700 400
02 23=24gl 93,100 92,700 400
OUstU=AEXAIE e ZHEAY 283 93,100
ofel WRIGNMS 5WI A 58,000 88,000 230,000
201 £B-2d| 18,000 18,000 0
03 A2 Z HI 18,000 18,000 0
Ol WRAAW WFHA 18,000
308 XXM SO0l A 40,000 70,000 A 30,000
10 S22SB4 AE A 40,000 70,000 A 30,000
Os= usXd SE0HAE 40,000
=SA0|Y =228 HI=E2UA 235 7,597,840 6,799,991 797,849
NSaed iA0tAHE K& 5,600,000 5,540,000 60,000
PASHAMSE (HEAY) 5,600,000 5,540,000 60,000
308 XXM SO0 A 5,600,000 5,540,000 60,000
10 B2 SUUHe3&HAE A 5,600,000 5,540,000 60,000
OS2I HADHAHE M 5,600,000
SHS4a el=er 23t 1,997,840 1,259,991 737,849
IHS4 JlgtxH 1,545,691 791,340 754,351
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A= AHSA= 22X 2HESAL
H: SADY 22Y HXULA 235
S IHSA o=t 43 (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2
101 @124 H] 14,691 14,340 351
04 JIZtHI22 NS E S 14,691 14,340 351
O=E=SZZ2Y0AHEANAE 2H 20| 13,744
OEL-La= 947
308 AXIEHSOIA 1,531,000 777,000 754,000
10 B 2SUHUEHEAEE A Y| 1,531,000 777,000 754,000
OF= 292 g |G\ 7,000
OBS+ERLNE HABET 180,000
OSNS £==0|9 2=20E8e IH 50,000
OJIg0| ol ==HI2Hd XN 200,000
OxErUES ss0HHE K& 100,000
OFTA AT &I AP B X & 30,000
=2 HEXE folME &2 X 100,000
Ol MsAIE SEOHAHE 336,000
O£  FTANE2S g2 38 X 303,000
OINZEZAIZ &= X3 200,000
O==2 232 aH == X 25,000
= Mol0] SESZAMRA 452,149 468,651 N 16,502
308 MXISHMSOIA 452 149 468,651 A 16,502
10 SIS USHAE AN E A Y| 452,149 468,651 N 16,502
OE= 450l SE=TARL 29 452,149
SAME &8 23 2,361,364 1,755,499 605,865
SAE = JtEE3s E8 £ 2¥HE A 2,361,364 1,755,499 605,865
SAE =234 A& 779,985 470,000 309,985
308 XX SHHSOIH 779,985 470,000 309,985
01 AIXSHMENEXZ 779,985 470,000 309,985
OsAaE ===38H XN& 779,985
=EsAE ZTHEM HE X 69,859 73,499 AN 3,640
308 AXIEHSOIA 69,859 73,499 AN 3,640
01 AIXSHMEMNEX= 69,859 73,499 AN 3,640
OxEssAE ZTEMN ME A 69,859
=AE GHQADIHE KR (HEAS) 900,000 800,000 100,000
308 XHXIGH S0l & 900,000 800,000 100,000
10 212 SUHUSHE A XEAE AT Y| 900,000 800,000 100,000
O=sAE oo 0tHge X 900,000
SAE HA0HAHE EIIEHM =2 40,000 40,000 0
301 et M= 40,000 40,000 0
06 212t01 =2 (4 HI 40,000 40,000 0
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M ox
40 5 4

=2l (e9: & 9)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES %Eﬁ HR=2

01 2L I 45,360 43,329 2,031
OJle0u ] 45,360

401 Al HI L £ 0HHI 4,500 0 4,500

01 Al& H| 4,500 0 4,500
O=ZH 2 HCHAFA WLHE D] X Z2 A 4,500
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